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Steps:
1. Multiply BOTH equations by whatever

it takes to make the coefficients on one
variable opposites.
2. Add equations
3. Solve for the variable
4. Substitute into an equation with
both variables
5. Solve for the variable
6. What's the point?




3/8 - Inconsistent Systems using Elimination

What has to happen in order to get each of these answers?
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one variable cancels
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continue solving|
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Intersecting lines

Eliminate one variable
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-3 ( 4x-8y=12)
2 (6x—12y=12)
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24x - 27y =-9
2, (-8x+9y=3)
29 —27y=-9
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5 (4x+20y=-8 )
2 (-10x - 50y =10 )
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= (6x-9y=-6)
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